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Introduction

Figure 1: Mission
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Sway Surge
• Velocity v
• Surge vp (Heading parallel velocity)
• Sway vn (Heading normal velocity)

v = vp + vn (1)
vp = v · cos(θ − ψ) (2)
vn = v · sin(θ − ψ) (3)

Current estimation

• Normal current vn = cn

• Parallel current vp = vhelios + cp
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Current estimation

Velocities

v = vp + vn (4)
vp = v · cos(θ − ψ) (5)
vn = v · sin(θ − ψ) (6)

COG heading

θ = arctan2(ẏ, ẋ) (7)
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Results

Current

• cn = 0.15 ± 0.5 m.s−1

• cp = 0.10 ± 0.5 m.s−1
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Figure 2: Final map of currents at Moulin-Mer
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Questions?
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